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A particle is moving in a straignt une such that its distance x from a fixed point at time ¢
is given by

Show that the particle is moving with simple harmonic motion.
A particle is moving in a straight line with simple harmonic motion. When it is a point p
of distance 0-8 m from: the mean-centre, its speed is 6 m/s and when it is at a point p,

of distance 02 m from the end- po:smon on the same side of the mean-centre as p,,
its acceleration is of magnitude 24 m/s?.

and hence find the value of r.

Find also the period of the motion and the shortest time taken between p and p, correct
to two places of decimals.”

X = r cos wt.

If r is the amplitude of the motion, show that
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